Mth 098 — Intermediate Algebra — Practice Exam 5 Solutions

1. The domain of a rational function is any value except those that make the denominator zero.
We need to solve the equation x° +4x =0.

X +d4x=0 = x(x2+4):O = x=0 or x*+4=0

x? +4 =0 has no solutions, so the domain is {x|x # 0}.
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11. Since this is a proportion, we can cross multiply.

(x—l)(x—5)24(x—5)

¥ —6x+5=4x-20

x> =10x+25=0

(x—5)2:0 = x-5=0 x=5

When we check, however, we see that the denominator x —5 1is equal to zero when x =5, so
this equation has no solution.

12.
LCD =x

X(HS I

x-x+x-§=—5x = x’+6=-5x
X

XX +5x+6=0 = (x+3)x+2)=0
x+3=0 = x=-3

x+2=0 = x=-2

So the solution set is: {~3, -2}

13. Since these triangles are similar, we can set up the proportion:
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Cross multiplying:

(x+2)x-1)=5-2
¥ +x-2=10
¥ +x-12=0
(x+4)x-3)=0

x+4=0 = x=-4
or

x—-3=0 = x=3

Since x+2 and x —1 represent lengths, x = —4 is not possible, so the solution is x =3.
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